

$$3f^3(x) + 4f(x) = x - 1 \quad (1) \quad \forall x \in \mathbb{R}$$

(α) Έστω $x_1, x_2 \in \mathbb{R}$ $f(x_1) = f(x_2) \stackrel{(2)}{\rightarrow} f^3(x_1) = f^3(x_2) \rightarrow$

$$3f^3(x_1) = 3f^3(x_2)$$

(2) $\rightarrow 4f(x_1) = 4f(x_2)$

$$3f^3(x_1) + 4f(x_1) = 3f^3(x_2) + 4f(x_2) \quad (1)$$

$$x_1 - 1 = x_2 - 1 \Rightarrow x_1 = x_2. \text{ Άρα } f: 1-1$$

$$f(x) \cdot (3f^2(x) + 4) = x - 1$$

$$f(x) = \frac{x-1}{3f^2(x)+4} \leq \frac{x-1}{4}$$

$$\lim_{x \rightarrow -\infty} \frac{x-1}{4} = -\infty \Rightarrow \lim_{x \rightarrow -\infty} f(x) = -\infty.$$

(β) $\frac{x}{x+1}$, $3f^3(x+1) + 4f(x+1) = x \quad (3)$

Ορίζω $A(x) = 3x^3 + 4x$ ομοιόμορφα

(3) $\Rightarrow A(f(x+1)) = x$

$$A(f(-x+1)) = -x = -A(f(x+1)) = A(-f(x+1))$$

Άρα $A(f(-x+1)) = A(-f(x+1)) \rightarrow f(-x+1) = -f(x+1) \Rightarrow f(x+1) = -f(-x+1) \Rightarrow$

$$\lim_{x \rightarrow +\infty} f(x) = \lim_{x \rightarrow +\infty} [-f(-x+2)] \stackrel{-x+2=n}{=} \lim_{n \rightarrow -\infty} (-f(n)) = +\infty$$

αδμ.10 / Εναλλαγή

$$3f^3(x) + 4f(x) = x \quad (1) \quad \forall x \in \mathbb{R}$$

Ξέρω $\lim_{x \rightarrow -\infty} f(x) = -\infty$. θ.δ.ο. f ηφιζωσι.

Θεωρω $A(x) = 3x^3 + 4x$ ηφιζωσι $(1) \Rightarrow A(f(x)) = x \quad \forall x \in \mathbb{R} \quad \begin{matrix} x = -x \\ \Rightarrow \end{matrix}$

$$A(f(-x)) = -x = -A(f(x)) = A(-f(x))$$

$$\forall \epsilon \in \mathbb{R} \quad A(f(-x)) = A(-f(x)) \Rightarrow f(-x) = -f(x)$$

$$\lim_{x \rightarrow +\infty} f(x) \stackrel{x = -u}{=} \lim_{u \rightarrow -\infty} f(-u) \stackrel{f}{\eta\phi\iota\zeta\omega\sigma\iota} - \lim_{u \rightarrow -\infty} f(u) = +\infty$$

$3f^3(x) + 4f(x) = x - 1, \forall x \in \mathbb{R}. \text{ v.s.o. } f(\mathbb{R}) = \mathbb{R}.$

Για να δείξω ότι $y \in \mathbb{R}$. θ.δ.ο. $\exists x_0 \in \mathbb{R}$ ώστε $f(x_0) = y$

για $x = 3y^3 + 4y + 1 \Rightarrow A(x) = 3x^3 + 4x$

$3f^3(3y^3 + 4y + 1) + 4f(3y^3 + 4y + 1) = 3y^3 + 4y$

$A(f(3y^3 + 4y + 1)) = A(y) \Rightarrow f(3y^3 + 4y + 1) = y$

Αρα να βρούμε $x_0 = 3y^3 + 4y + 1. \Rightarrow y \in f(\mathbb{R})$

$x - 1 = 3y^3 + 4y$
 $x = 3y^3 + 4y + 1$

Μια ερώτηση Αν f είναι συνάρτηση $\mathbb{R} \rightarrow \mathbb{R}$ τότε $f(\mathbb{R}) = \left(\lim_{x \rightarrow -\infty} f(x), \lim_{x \rightarrow +\infty} f(x) \right)$

Αν f είναι συνάρτηση $\mathbb{R} \rightarrow \mathbb{R}$ και $f(\mathbb{R}) = \mathbb{R}$ τότε $\lim_{x \rightarrow -\infty} f(x) = -\infty, \lim_{x \rightarrow +\infty} f(x) = +\infty.$